V2 (FW Version)

M5Stack Unit RollerCAN 12C Protocol

2024/10/11
REG MAP (Addr:0x64) 0 3 F note

Output

0:Motor off
Motor on

Motor Button 4: Encoder Mode
0x00 Over switching | Motor Stall
Motor Config wR | Cuet Range mode | Protection |Button switching mode enable:
Protection enable 0: Off; 1: Press and hold for 55 to switch modes in running mode.

Motor Stall Protection:
0: Disable
1: Enable

Motor Position Over Range Protection:
0: Disable
1: Enable

Motor
configur

ation&

Motor
paramet

Release

Remove protection Oxveo stall Write 110 remove protection
protection
Motor Status 000 Motor Motor Error Code:
R Status.

Overvottage

m
4: Over Range

0~255

BPS:
0,1Mbps; 1, 500Kbps; 2, 125Kbps;

RGB Brightness:
0~100

sl || s || s || e Speed Setting = Speed Setting-byte0 + Speed Setting-bytel * 256 + Speed Setting~

: 0vd0 ) . ) . byte2 * 65536 + Speed Setting-byte3 * 16777216
Seting Speed XI00Int | b SE“‘ZE Simg SE“‘QS SE“‘Z? e e o
" v ch ik Range: -2100000000-2100000000
Max Current = Max Current-byte0 + Max Current-byte1 * 256 + Max Current-byte2 *
Max Max Max Max
050 - . - . 65536 + Max Current-byte3 * 16777216
Max Current XI00Int | e | Current- | Current- | Current- | Current e e o

byted [ bytel | bytez | byte3 Range: -120000-120000

Speed
Control o0 | 0 | Speed | speed Speed Readback = Speed Readback-byte0 + Speed Readback-byte1 * 256 + Speed
Speed Readback X100 Int | ¢ |Reaclback- | Readback- | Readback- Reacback-byte2 * 65536 + Speed Readback-byte3 * 16777216
byted | bytel | byte2 | bye3 Actual Speed Readback = Speed Readback/00
o o o o PA/D:
070 [P P P 3 400000- | x10m00- | x100000- | x00000- PID = PID-byte0 + PID-byte * 256 + PID-byte2 * 65536 + PID-byte3 * 16777216
Rl | GE || G byted | bytel | byte2 | byte3
v h For example: P=1, P setting value=1¢100000=100000
Position Setting = Position Setting-byted + Position Setting-bytel * 256 + Posiion
Postion Sett Y| Fienn || [t || Fsienn | [esien Setting-byte? * 65536 + Position Setting-byte3 * 16777216
ostion Setting X100 Int Setting- | Setting- | Setting- | Setting- o2 ® 953 tion Seton
IR " poeo iz byte2 byte3 Actual Position Setting = Position Setting/100
e v v v Range: -2100000000-2100000000
Max Current = Max Current-byte0 + Max Current-byte1 * 256 + Max Current-byte2 *
Max Max Max Max
Max Current x100int | 929 | current- | Currenti- | currentl- | Currenti- 65536 + Max Current-byte3 * 16777216
wR | S S e | e Actual Max Current = Max Current/i00
e v v v : -120000-120000
Postion
Control - Post y i bytel *
posiion Readbackxi00 | 0o | POSton | Postion | Posiion | positon fion Reacback = Postion Readback-byte0 + Positon Readback byt * 256 +
p 30 | Readback- | Readback- | Readback- Position Readback-byte2 * 65536 + Position Readback-byte3 * 16777216
byted | bytel | byte2 | bye3 Actual Postion Readback = Postion Readback/100

PA/D:
i X1 poxi o D- D- > o L e
P'xb - ] - X100000- | X100000- | X100000- PID = PID-byte0 + PID-bytel * 256 + PID-byte2 * 65536 + PID-byte3 * 16777216
" " & bytel byte2 | byte3

For example; P=1, P setting value=1*100000=100000




oxg0 | Corent | curent | curent | current
Curent Secing X100 It | | Setting- | Settng- | Setting- | Setting-
byte0 | bytel | bye2 | byte3
Current
Control
Current | Current | cCurrent | current
Corrent Readback X100 | B0 | agack- | Readback- | Readback- | Readback-
byted | bytel | bye2 | byte3
030
RGB o | Rews | RaB-G | RGBR
030
VIN X100 Int o =
Temp Int 030
System
030
Encoder Counter WR
) OF0 | Flash
—
Firmware Version | %0

VIN X100- | VIN X100~ [ VIN X100- [ VIN X100~
e0 | byl byte2 | byte3

Temp- | Temp- | Temp- [ Temp-
byted | bytel | byte2 | bye3

Encoder
Counter-

byte0

Encoder
Counter-
bytel

Encoder
Counter-

byte2

Version

Current Setting = Current Setting-byte0 + Current Setting-byte1* 256 + Cument
Setting-byte2 * 65536 + Current Setting-byte3 * 16777216

Actual Current Setting = Cument Setting/100

Range: -120000-120000

Current Readback = Cumrent Readback-byte0 + Current Readback-bytel * 256 +
Current Readback-byte2 * 65536 + Cument Readback-byte3 * 16777216
Actual Current Readback = Cumrent Readback/100

1, User-define

VIN X100 = VIN X100-byte0 + VIN X100-byte1 * 256 + VIN X100-byte2 * 65536 + VIN
X100-byte3 * 16777216
Actual VIN = VIN X100/100

Temp = Temp-byte0 + Temp-bytel * 256 + Temp-byte2 * 65536 + Temp-byte3 *
16777216

Encoder Counter = Encoder Counter-byted + Encoder Counter-bytel * 256 +
Encoder Counter-byte2 * 65536 + Encoder Counter-byte3 * 16777216

Encoder
Counter-
byte3

Write 1 save to flash

Version: firmware version number

Address |Address: 1~127




